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The principle of “tit-for-tat” 1is the
characteristic of which stage of Kohlberg’s
theory of moral development?

Ans. Pre-conventional Level, Stage 2-
Personal reward orientation/Individualism
and exchange

The Linguist, Noam Chomsky maintains that
every child has an innate-
Ans. Language Acquisition Device (LAD)

Category of knowledge that allows us to
interpret and understand the world-
Ans. Schema

Remedial teaching is helpful for—
Ans. removing learning difficulties of weak
students

The period of transition of childhood from
adulthood is -
Ans. Adolescence

People like engineers, artists, and architects
have intelligence.
Ans. Visual-spatial

Which of the following is not promoted by
NEP 2020 in the context of inclusive
education?

Ans. Compulsory special education

curriculum
and

According to the national
framework, 2005 learning is
______inits character
Ans. Active and social
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The pre-operational stage in Jean Piaget’s
theory consists of-
Ans. Animism

Which socialization takes
children enter social institutions
school?

Ans. Secondary socialization

place when
like

Which one is not the characteristic of
dyslexia?
Ans. Writing in a slow manner
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Language 1 passage-
Ans. Topic- Report on waste in New Delhi

Language 1 poem-
Ans. Topic- Importance of nature

Language 2 passage-
Ans. Thomas Edison & Bihar Chamaparn
movement

ChomsKky is related to-
Ans. Universal grammar

Language Acquisition Device is given by-
Ans. Noam Chomsky

Write the antonym of ‘Prevented’.
Ans. Permitted

Which reading is done only to look for the
general or main ideas of a text?
Ans. Skimming
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The antonym of ‘spur’-
Ans. Curb

Which is the best way to assess the writing
skill of students?
Ans. Writing their experiences

In which of the following
substitution the
interchanged?

Ans. Simple substitution

types of

variables cannot be

Which of the following might be best
strategy for developing vocabulary among
the students?

Ans. Guessing the meaning of new words in
a given context

Scanning and Skimming are strategies for-
Ans. Reading
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Pashmina variety of wool is obtained from
which animal?
Ans. - Goat

A bird that makes a nest hanging from the
branch of a small tree or shrub is
Ans. - Sun Bird

The head of a herd of elephants is
Ans. Oldest Elephant

The paintings depict is a story in which only
natural colors are used. Paintings are called
Chitra Kathi. Painting belongs to

Ans. Maharashtra

During the pandemic time, doctors advised
increasing the ‘vitamin C’ rich food as
Ans. It builds resistance against infections
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A group of three states having the Arabian

Sea on one side is

Ans. - Kerala, Karnataka, Andhra Pradesh

Consider the following statement in

connection with ‘Desert Oak’

a. This tree grows almost as tall as a
general classroom wall.

b. This tree is found in Abu Dhabi

c. The trunk of this tree stores water. Local
people drink this water using pipes as
and when the need arises.

d. The roots of this tree go nearly 30 times
its height till they reach the water.

e. This tree has a large number of branches
full of leaves.

Ans.-A,CandD

Consider the following statements about
beehives:

a. Every beehive has many queen bees
which lay eggs.

b. There are only a few males in the
hive.

C. Most of the bees in the hive are

worker bees who collect nectar from the
flowers for honey.

d. Without worker bees there would be
neither a hive nor any nectar collection.
e. The male bees are very important for

the hive as they help in finding the flowers
with nectar.

The correct statement is

1. A C and E

2. A,B,C,andD

3. B,C, D, and E

4, B,C,and D

Ans.-B,Cand D

As per the NCF, 2005, which one among the
following is the theme of EVS?
Ans. Food




Q10. Which one of the following birds can rotate
its neck backward to a large extent?
Ans. Owl

Q11. Dyslexia is associated mainly with
difficulties in
Ans. Reading

Q12. The best way to assess a child at the primary
level is to use
Ans. Portfolio

Q13. The Ganga action plan launched to improve
the
Ans. Water quality

Q14. Which of the following rivers fall into the
Bay of Bengal?
Ans. - Subarnrekha

Q15. In which part of our country the big cone-
shaped tents used for living are known as
‘Rebo’ and the place in which animals are
kept called ‘Lekha’?

Ans. - Leh and Ladakh
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Ans. gF + 337
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Ans. {19
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LCM of 8,18 and 28
Ans. 504

What part of a complete rotation have you

turned if you-

a. Start from East and turn clockwise to
face North

b. Start from North and turn anticlockwise
to face west

Ans.a.3%b. Y

What is the sum of all factors of 99
Ans. 156

Which of the following number concept
stage provides an early perceptual basis for
numbers, but it is not yet “number
knowledge”?

Ans. Subitizing

The perimeter and the breadth of a rectangle
are in the ratio 18:7, find the ratio of its
breadth and length

Ans. 7:2

Study the pattern and write the next step -
0*9+1 =1

1*¥9+2=11

12*9+3=111

123*9+4 =1111

Ans. 1234*9+5=11111

A pile of 10 books is 10cm high, what is the
thickness of each book ?
Ans. 10mm




